
CHAPTER 4 
COUNTING IN TENS 

 
Ques.1 How many in petals of the flowers: 
 

±æú»ÖÖê ´Öë ×�úŸÖ−Öß ¯ÖÓ�Öã×›üμÖÖÑ ¤üÆüÖ‡Ô †Ó�ú ´Öë Æîü:-  
 
 
 
 
 
 10 + 10 = ______ 
 
Ques.2 How many pearls in tens in the garland? 
 
 ´ÖÖ»ÖÖ ´Öë ×�úŸÖ−Öê ´ÖÖêŸÖß ¤üÆüÖ‡Ô †Ó�ú ´Öê Æîü … 
 
 
 
 
 
 
 
 10  + 10  + 10  = ________ 
 
Ques.3 How many balls in the box? 
 
 ²ÖÖòŒÃÖ ´Öë ×�úŸÖ−Öê ¤üÆüÖ‡Ô �Öë¤êü Æîü … 
 
 
 
    
     +          +     +   
 
 
 
 
 10 + 10 + 10 + 10 = ___________ 
 
 
Ques.4  



 
 
 
 
 
 
 
  +  = _________ 
 
 
 2 tens + 1 ones = _________ 
  ¤üÆüÖ‡Ô     ‡�úÖ‡Ô  
 
Ques.5 How many  tens are count it in the figure. 
 
 ×�úŸÖ−Öê ¤üÆüÖ‡Ô Æîü? ×�Ö−ÖÖê… 
 
 
 
 
       = ____________ 
 
 
 
 
Ques.6 How many flowers are count it in tens. 
 ±æú»Ö ×�úŸÖ−Öê Æîü, ¤üÆüÖ‡Ô ´Öê ×�Ö−ÖÖê… 
 
 
 
 
 
 
       = ____________ 
 
 
 
Ques.7 
 
 
       = __________ 
 



 2 tens  + 2 tens  
 
Ques.8   
 
  H T O 
 
 
 
 
 
 
 
Ques.9  
   T O 
 
 
 
 
 
 
Ques.10 How many 10 boxes in the circle. 
 �ÖÖê»Öê ´Öë ×�úŸÖ−Öê 10 ²ÖÖŒÃÖ Æîü? 
 
 
 
 
 
      = ____________ 
 
 
 
 
 
Ques.11 How many 10 circle in the box. 
 ¤üÆüÖ‡Ô †Ó�úÖê ´Öë ×�Ö−ÖÖê… 
 
 
 
 
 
 
    10        +      10        +        10         +     10       +       10         =    ______ 



 
 
 
Ques.12 Count it in tens. 
 ¤üÆüÖ‡Ô ´Öê ×�Ö−ÖÖê… 
 
 
 
 
 
 
 
 
 
 10  + 10  + 10  + 5     = __________  
 
 
Ques.13 Count it tens. 
 ¤üÆüÖ‡Ô ´Öê ×�Ö−ÖÖê… 
 

 
 
 
Ques.14 How many leaves count it in tens. 
 ¯Ö×¢ÖμÖÖÑ ×�úŸÖ−Öß Æîü ¤üÆüÖ‡Ô ´Öê ×�Ö−ÖÖê? 
 
 
 
 
 
      = __________ 
 
 
 



 
 
Ques.15 How many ducks count it tens. 
 ×�úŸÖ−Öê ²ÖŸŸÖ�Ö Æîü ¤üÆüÖ‡Ô ´Öë ×�Ö−ÖÖê? 
 
 
 
 
 

 
 



ANSWERKEY 
1. 20 
2. 30 
3. 40 
4. 21 
5. 20 
6. 10 
7. 40 
8. 132 
9. 32 
10. 10 
11. 50 
12. 35 
13. 70 
14. 20 
15. 10 

 


